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QUESTION 1

Identify the three data types available for part custom fields. (Choose three.)
A. "Currency"”

B. "Float" can be changed to "Integer"

C. "String" can be changed to "Single Select Menu"

D. "Boolean"

E. "Date" can include time

F. "Multi Select Menu"

Correct Answer: ABC

QUESTION 2

Which Configuration Flow would you choose to design a Configurator where attributes vary based on prior user
selections and have a sequential relationship consisting of distinct steps?

A. Master Start and End Flow

B. Multi Node Configuration Flow

C. Search Flow

D. any Configuration Flow with a combination of Constraint and Hiding rules that meet requirements

Correct Answer: B

QUESTION 3

Given the following JSON:
jsonString=" {\ “asset-101\" : {\ “lines\” : [ (\ “documentMumber\” : \ “45\", \ “guanticy\” : \"3\",
\ "price \ " : 8.1}, {\ “documenchumber\ ™ i\ ™40\ *, \ “quantizy\” : \ “30\" , \ “pric=\” :62}],

\ "“finalDate\” :null, \ "“finalAction\” : \ “UBDATE\", \ “available\ “"true} }";

Which option gets the reference of a JSON object with a specific Document Number “40\\'?
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A. jobjlLine=jsonpathgetsingle (" S..lines [?
(@.documentNmber = = ‘40’ 1" , “json”,

jobjline=jsongetsingle (jobjAssetr, “$..lines [? (GdicumentNumber= = ‘4¢r)] *, “jJson”);

C. jobijline=jsonpath.getsingle (joblsset, “5..lines[?
(@ .documentNumber= = ‘407)] ™, “json”);

D. jokjline=jacnpathgetsingle (jobjlsset, “2..lines|[?
{@.documentNumber= = “4£07)]1", “json”):

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D

QUESTION 4

You want to perform a configuration migration from a development site to a QA site. What is the Oracle-recommended
way to accomplished this?

A. Using a DB Link, log in to the development site through the Migration Center section, select the components that
need to be migrated, and start the migration.

B. Open Migration Center in the development site, log in to the QA site through the Migration Center section, select the
components that need to be migrated, and start the migration.

C. Open Migration Center in the QA site, log in to the development site through the Migration Center section, select the
components that need to be migrated, and start the migration.

D. Download the components that need to be migrated from the development site and upload them to the QA site.

Correct Answer: C

QUESTION 5

You are asked to design a Document Designer template, which should generate an output document where users would
be able to navigate to a specific section from the table of contents. This is a complex document with many sections and
subsections that can go up to seven levels of parent/child relationships. Which three steps do you need to perform to
ensure that the table of contents show only two levels of the sections and subsections so that the user reviewing the
document can navigate to a desired section\\'s page and scroll further to the deeper levels? (Choose three.)

A. Enable the Table of Contents option for selected heading styles.

B. Enable the Table of Contents option for all heading styles.

C. Assign a heading style set to the Table of Contents layout.
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D. Create headings by using the Heading element for the section content in your template.
E. Assign page numbers to all heading elements.

Correct Answer: BDE

QUESTION 6

Which are three testing strategies for Oracle CPQ Cloud? (Choose three.)

A. Test cases should be directly linked to business requirements.

B. Avoid using a test case tracking tool because it is time consuming to track all of the testing team\\'s efforts.
C. Perform isolated tests as well as intra-system and cross-system integration tests.

D. Create specific test data for accounts, opportunities, and contracts in the CRM system and use that data to perform
end-to-end tests for CPQ Cloud quotes.

Correct Answer: BCD

QUESTION 7

A customer has BOM Mapping configured on their site using a simple Table-Based BOM Mapping rule.
However, they want to modify their BOM Mapping to also map an additional Configuration attribute to a
Transaction Line level attribute.

Which two methods can the customer use to achieve this? (Choose two.)

A. Add a new entry in the BOM Attribute Mapping table for the BOM item.

B. Add a new entry in the BOM Item Mapping Definition table for the BOM item.

C. Add a new entry in the BOM Attribute Definition table for the BOM item.

D. Define an Advanced BML-Based BOM Mapping rule that populates the "attributes" node of the BOM item.
E. Define an Advanced BML-Based BOM Mapping rule that populates the "definition" node of the BOM item.
F. Define an Advanced BML-Based BOM Mapping rule that populates the "fields" node of the BOM item.

Correct Answer: AD

QUESTION 8
Which statement is a proper definition of a Punch-In?

A. Punch-Ins are links that hook into a specific Commerce process in the system. They can be used to navigate directly
to a given Commerce process in your application. They can also be used to jump into a specific Commerce process
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from an external website.

B. Punch-Ins are links that hook into specific product families in the system. They can be used to navigate directly from
a product family to another in your application. They can also be used to jump into a specific product family from an
external website.

C. Punch-Ins are links that relate into specific parts in the system. They can be used to search directly for a given part in
your application. They can also be used to search for a specific part from an external website.

D. Punch-Ins are links that hook into specific pages in the system. They can be used to navigate directly from one page
to another in your application. They can also be used to jump to a specific page from an external website.

E. Punch-Ins are buttons that take you to specific pages in the system. They can be used to navigate directly from one
page to another in your application.

Correct Answer: D

QUESTION 9

What is the correct navigation path to create Account Integrations?
A. Admin > Accounts >Add >Integration

B. Admin > Accounts > Integration > Add

C. Admin > Process Definition > Integrations > List > Add

D. Admin > Accounts > Import >Integration > Add

Correct Answer: B

QUESTION 10

What does the function getconfigattrvalue () return?

A. Returns all Text Area Attribute values only

B. Returns the values of configuration attributes in Commerce
C. Returns all Menu Attribute values only

D. Returns the values of configuration attributes in Config

Correct Answer: B

QUESTION 11

After saving content to the Content library, you check the Content library Tree and find that the new content is missing.
What would be your immediate action?

A. Close, refresh dynamic sources, and re-open the Dynamic Data window.
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B. Close and re-open the Content Library Tree.
C. Deploy Commerce.
D. Deploy Config and Commerce.

Correct Answer: B

QUESTION 12

Your customer has a Configurator on a site with two Commerce processes. Which two options allow you to control in
which Commerce process a new transaction will be created when starting from the Configurator?

A. Populate the Target Commerce Process field with configuration recommended item rules.

B. For one invocation action, define two different invocation rules with condition BML functions.

C. For each Commerce process, create a "Create transaction” button by generating an invocation action.
D. Assign a user or a user group to the Commerce process action permissions.

Correct Answer: B

QUESTION 13

Which format will datetostr (getdate()) return when no format is supplied?
A. DD/mm/yyyy HH:mm:ss

B. HH:mm:ss MM/dd/yyyy

C. HH:mm:ss DD/mm/yyyy

D. MM/dd/yyyy HH:mm:ss

Correct Answer: D

QUESTION 14

Identify four types of attributes that can be set by formulas. (Choose four.)
A. Integer Attributes

B. Single Select Menu Attributes

C. Date Attributes

D. Text Attributes

E. Boolean Attributes
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F. Currency Attributes

Correct Answer: ACEF

QUESTION 15

How can action buttons be hidden in Commerce?

A. by using Commerce hiding rules

B. by using Configuration hiding rules

C. by using profiles and steps in Commerce

D. by putting the action button bar on a hidden tab in Commerce

Correct Answer: A
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